

§1.2: 1) (a) $C_1 = \{0, 1, 2\}$, $C_2 = \{2, 3, 4\}$

$C_1 \cup C_2 = \{0, 1, 2, 3, 4\}$; $C_1 \cap C_2 = \{2\}$.

(b) $C_1 = \{x: 0 < x < 2\}$, $C_2 = \{x: 1 \leq x < 3\}$.

$C_1 \cup C_2 = \{x: 0 < x < 3\}$; $C_1 \cap C_2 = \{x: 1 \leq x < 2\}$

(c) $C_1 = \{(x, y) : 0 < x < 2, 1 < y < 2\}$, $C_2 = \{(x, y) : 1 < x < 3, 1 < y < 3\}$

$C_1 \cup C_2 = \{(x, y) : 0 < x < 3, 1 < y < 3\}$

$C_1 \cap C_2 = \{(x, y) : 1 < x < 2, 1 < y < 2\}$.

11). $Q(C_1) = \int_{\frac{1}{4}}^{\frac{3}{4}} 6x(1-x) dx = [6 \cdot \frac{1}{2} x^2 - 6 \cdot \frac{1}{3} x^3]_{\frac{1}{4}}^{\frac{3}{4}} = (3x^2 - 2x^3) \Big|_{\frac{1}{4}}^{\frac{3}{4}} = \left(\frac{11}{16}\right)$

• $Q(C_2) = \int_{\frac{1}{2}}^{\frac{1}{2}} 6x(1-x) dx = 0$

• $Q(C_3) = \int_0^{10} 6x(1-x) dx = \int_0^1 6x(1-x) dx = 1$ because $f(x) = 0$ when $1 \leq x < 10$.

12). $Q(C) = \iint_C (x^2 + y^2) dx dy$

• $C_1 = \{(x, y) : -1 \leq x \leq 1, -1 \leq y \leq 1\}$

$Q(C_1) = \int_{-1}^1 \int_{-1}^1 (x^2 + y^2) dx dy = \int_{-1}^1 \left([x^2 y + \frac{1}{3} y^3] \Big|_{y=-1}^{y=1} \right) dx = \int_{-1}^1 \left(2x^2 + \frac{2}{3} \right) dx = \left(\frac{2x^3}{3} + \frac{2}{3}x \right) \Big|_{-1}^1 = \left(\frac{8}{3} \right)$

• $C_2 = \{(x, y) : -1 \leq x = y \leq 1\}$

$Q(C_2) = \int_{-1}^1 \left[\int_x^x (x^2 + y^2) dy \right] dx = 0$

= "0" (it's a line so 2nd integral of line is 0)

• $C_3 = \{(x, y) : x^2 + y^2 \leq 1\}$

$Q(C_3) = \iint_{C_3} (x^2 + y^2) dx dy$ let $x = r \cos \theta$
 $y = r \sin \theta$
 $\frac{dx dy}{dr d\theta} = r dr d\theta$ $\int_0^{2\pi} \int_0^1 r^3 dr d\theta$

$= \int_0^{2\pi} \left[\frac{1}{4} r^4 \Big|_0^1 \right] d\theta$

$= \int_0^{2\pi} \frac{1}{4} d\theta$

$= \frac{1}{4} \theta \Big|_0^{2\pi} = \left(\frac{\pi}{2}\right)$

$$15) C = \{(x, y, z) : x^2 + y^2 + z^2 \leq 1\}$$

$$\begin{aligned} \text{let } x &= r \sin \theta \cos \phi & \text{so: } x^2 + y^2 + z^2 &= (r \sin \theta \cos \phi)^2 + (r \sin \theta \sin \phi)^2 + (r \cos \theta)^2 \\ y &= r \sin \theta \sin \phi & &= r^2 (\sin^2 \theta \cos^2 \phi + \sin^2 \theta \sin^2 \phi + \cos^2 \theta) \\ z &= r \cos \theta & &= r^2 (\sin^2 \theta + \cos^2 \theta) \\ & & &= r^2 \end{aligned}$$

$$dx dy dz = r^2 \sin \theta dr d\theta d\phi$$

$$\Rightarrow Q(C) = \iiint_C r \cdot r^2 \sin \theta dr d\theta d\phi$$

$$= \int_0^{2\pi} \int_0^{\pi} \int_0^1 r^3 \sin \theta dr d\theta d\phi$$

$$= \int_0^{2\pi} \int_0^{\pi} \sin \theta \cdot \left(\frac{1}{4} r^4 \Big|_0^1 \right) d\theta d\phi$$

$$= \frac{1}{4} \int_0^{2\pi} \int_0^{\pi} \sin \theta d\theta d\phi$$

$$= \frac{1}{4} \int_0^{2\pi} (-\cos \theta) \Big|_0^{\pi} d\phi$$

$$= \frac{1}{4} \int_0^{2\pi} 2 d\phi = \frac{1}{4} \cdot 2 \cdot (2\pi - 0) = \pi$$

$$\S 1.3: 1) C_1 = \{1, 2, 3, 4\}, C_2 = \{3, 4, 5, 6\} \Rightarrow C_1 \cup C_2 = \{1, 2, 3, 4, 5, 6\}, C_1 \cap C_2 = \{3, 4\}$$

$$\text{so } P(C_1) = \frac{1}{6} + \frac{1}{6} + \frac{1}{6} + \frac{1}{6} = \left(\frac{2}{3}\right) \quad P(C_1 \cap C_2) = \frac{1}{6} + \frac{1}{6} = \left(\frac{1}{3}\right)$$

$$P(C_2) = \frac{1}{6} + \frac{1}{6} + \frac{1}{6} + \frac{1}{6} = \left(\frac{2}{3}\right)$$

$$P(C_1 \cup C_2) = P(C_1) + P(C_2) - P(C_1 \cap C_2) = \frac{2}{3} + \frac{2}{3} - \frac{1}{3} = \textcircled{1}$$

$$2) C_1 = \{13 \text{ hearts}\}, C_2 = \{4 \text{ kings}\}$$

$$\text{so } C_1 \cap C_2 = \{\text{the king in heart}\}$$

$$P(C_1) = 13 \times \frac{1}{52} = \left(\frac{1}{4}\right)$$

$$P(C_2) = 4 \times \frac{1}{52} = \left(\frac{1}{13}\right)$$

$$P(C_1 \cap C_2) = \left(\frac{1}{52}\right)$$

$$P(C_1 \cup C_2) = P(C_1) + P(C_2) - P(C_1 \cap C_2) = \frac{1}{4} + \frac{1}{13} - \frac{1}{52} = \frac{16}{52} = \left(\frac{4}{13}\right)$$

$$4) C = C_1 \cup C_2 \quad P(C) = P(C_1 \cup C_2) = 1$$

$$P(C_1) = 0.8; \quad P(C_2) = 0.5;$$

$$P(C_1 \cup C_2) = P(C_1) + P(C_2) - P(C_1 \cap C_2)$$

$$1 = 0.8 + 0.5 - P(C_1 \cap C_2)$$

$$P(C_1 \cap C_2) = \boxed{0.3}$$

$$5) C = \{c: 0 < c < \infty\} \text{ so } P(C) = \int_0^{\infty} e^{-x} dx = \int_0^{\infty} e^{-x} dx = -e^{-x} \Big|_0^{\infty} = 0 - (-1) = \textcircled{1}$$

$$C = \{c: 4 < c < \infty\}: P(C) = \int_4^{\infty} e^{-x} dx = \int_4^{\infty} e^{-x} dx = -e^{-x} \Big|_4^{\infty} = 0 - (-e^{-4}) = \textcircled{e^{-4}}$$

$$C^c = \{c: 0 < c \leq 4\}: P(C^c) = \int_0^4 e^{-x} dx = \int_0^4 e^{-x} dx = -e^{-x} \Big|_0^4 = -e^{-4} - (-1) = \textcircled{1 - e^{-4}}$$

$$P(C \cup C^c) = P(C) + P(C^c) - P(C \cap C^c)$$

$$= P(C) + P(C^c) - P(\emptyset)$$

$$= e^{-4} + (1 - e^{-4}) - 0$$

$$= \textcircled{1}$$

#